SP survey in the Audience, WS 2023/24 (red: bad weather, 1V = 1)

Data: Times T;, Costs C;, weather W = 0/1 : nice/bad:

Alt L Ak, 2, éljtblii: Alt. 4: R
';?::S' Bike trans- Car #L | #2 ) #3 ) #
port
30 min 30min | 30 min4+-0€ | 30 min4-0€ 4 51 19 9
15 min 15min | 30 min4+-0€ | 30 min+0€ 8] 11| 10 8
20 min 20min | 20min+0€ | 20 min+4-2€ 4 8| 23 5
60 min 60 min | 60 min+-0€ | 60 min42€ 0 21 26 8
20 min 15min | 20min+2€ | 20 min+0€ 2 8 21 19
30 min 10min | 10min+2€ | 10 min+2€ 0| 27 2 9

Note: For reasons of efficiency, the survey was performed simultaneously for
each choice set. In reality, everybody gets individual questionnaires.



Relative H ufigkeiten

‘/i:

Bodi1 + B10i2 + G203 + B4Ci + BsW (033 + d4a)
+83T53041 + BeLi0i2 + Br1i0i3 + BeTi0i4

Model specification and calibration

or

0.8

Dataped [

Data bike 24

DataPT =

Model ped

Model bike

Model PT ——
A

Vi = Bo + B3T1 + BaCr + BsW,
Vo = B1 + BTz + BaCo + BsW,
Vz = B2 + BrTs + $1Cs + Bs W,
Vi = BsTu + faCys + BsW

In Linie = —378.5,
InL = —295.7,

By = —0.05 + 0.86,
B = —0.01 4 0.47,
—0.11 £ 0.43,
By = —0.82 4 0.15,
Bs = 1.85 4 0.49,

B3 = —0.141 + 0.036,
Bs = —0.111 4 0.027,
B7 = —0.063 + 0.028,
Bs = —0.066 + 0.027

A=)
N
I

Choice Set

VoTped = 6083/64 = 10.39€/h,
VoTear = 60535 /34 = 4.86€/h,
shelter costfs/(—B4) = 2.27€



Relative H ufigkeiten

0.8

0.6

0.4

0.2

Comparison with global modelling of TT depenence

Vi=Podi1 + B1diz + B2dis

+63T; + B4Ci + BsW (853 + 0i4) or

Dataped [
Data bike 24
DataPT =
Model ped
Model bike

Model PT ——
2

A
I m I
T

Vi = Bo + B3T1 + BaCr + BsW,
Vo = B1 + B3T3z + BaCa + BsW,
Va = B2 + B3T3 + BaC3 + Bs W,
Vi = B3Ts + faCy + BsW

In Linie = —378.5,
In L = —304,

By = —1.99 + 0.28,
B = —1.2440.24,
By = —0.01+0.17,
53 = —0.114 + 0.023,
By = —1.02+0.14,
Bs = 1.90 £ 0.49

n
w
~
(9]

o=

Choice Set

Bo/(—B3) = —17.5 min,
@1/( ﬁ ) = —10.9 min,
B2/(—pB3) = —0.1 min,

VoT = 60833/84 = 6.67€/h,
shelter costfs/(—B4) = 1.86€



Modal split, W=0, Cp7=2.0 Euro, C,=2.0 Euro

Dependence of the modal split on the PT attributes
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Modal split
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Dependence on the distance

Ped, W=0, Cpy=2.0 Euro, Co,=2.0 Euro
Ped+bike
Peds+bike+PT ——

Assurﬁed speeds:
....Ped 5km/h, bike 15 km/h |
i PT 20 km/h, car 25 km/h

Distance r [km]




Log-likelihood function in parameter space

me sensitivity ped)

Bs (Ti
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B5 {Dummy weather)
Bs {Dummy weather)
P {Cummy weather)
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